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Individual Competition – Hurdles - Answers
  
ANSWER

1.
 When half of a number is decreased by 5, 

   
 the result is 1000. What is the number?                           2010
2.
How many ways are there to go from the top left corner 

          (point A) to the bottom right corner (point B) of the grid 

          below if you must travel along grid lines and you can 

          only move right or down?
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3. Arrange the fractions 
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 in decreasing order.










3/4, 5/7, 2/3, 5/8

4. Find the sum of 

    1 + 2 + 3 + …. + 2008 + 2009 + 2010


                2 021 055
5. A room is one-half full of people. After 20 people leave,

    the room is one-third full. How many people does the 

    room hold when it is full?





       120










ANSWER
6. After being painted, a solid wooden cube whose edge 

    is 3 cm is cut into 27 small 1 cm cubes. How many of 

    these cubes have exactly two painted faces?  
         
12
7. What is the value of 
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? Express your answer as 

    a fraction.







1/3
8. What is the area of the given figure?                 
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82 cm2











ANSWER
9. As part of her physical fitness training, Caroline cycled

    at 30 km/h and then jogged at 8 km/h. The total time

    spent was 2 h, and she covered a total distance of 

    49 km. How much time did she spend jogging?











30 min or ½ h
10. If each side of a square is decreased by 10%, what

      is the percent decrease in the area of the square?












19%
11. The surface of an L-shaped swimming pool is 

      shown in the diagram below. The pool has a 

      uniform depth of 2m. Calculate the volume of 

      water in the pool if it is 90% full. Express your 

      answer to the nearest cubic metre.
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119 m3











     ANSWER
12. An ant crawls outside a square of side 1 cm, at all 

      times remaining exactly 1 cm from the boundary of 

      the square. What is the approximate area bounded

      by one complete circuit of the ant? (Round your 

      answer to the nearest whole number.)


     8 cm2
13. The number 10 can be expressed as a sum of two 
       powers of 2; i.e., 
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, where a and b are 
       whole numbers. What is the value of 
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                                                                                        4
14. ABC is an isosceles triangle. Lines EA and BD are    

      parallel. 
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. Determine the value of 
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.       1000
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                                                                                          ANSWER
15. What is the 2010th digit to the right of the decimal point

      in the decimal expansion of 
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16. A ball bounces 
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 of the height from which it is dropped. 

     It continues to bounce back to 
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 of the height of the 

     previous bounce each time it bounces. If it reaches 

     a height of 24 cm on the third bounce, from what height 

     was it originally dropped?  











      81 cm
17. The area of square ACDF is 64 cm2. Determine the 

      perimeter of trapezoid ABEF.                                              48 cm
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                                                                                                  ANSWER
18. Maple sap is dripping into a bucket at an average rate of 

      20mL per minute. The bucket is a right circular cylinder 

      with diameter 20cm and height 36cm. Assuming that the 

      top of the bucket is level, how long will it be before the 

      bucket is full? 

      Notes: 1mL = 1cm3.  Use 3.14 as an approximation for
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      Express your answer in hours and minutes to the 

      nearest minute.                                                                    9h 25 min
19. How many whole numbers between 700 and 900 begin

      and/or end with an 8?                                                           110
20. Henrietta writes five tests during the year.  Her marks 
      on the first four were  
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. All the tests have 
      the same weight. What mark out of 100 must Henrietta 
      get on the fifth test to ensure she has an overall 
      average of 85%?                                                                  88
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